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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or {4) that best completes the blank. Then
mark the correct choice on your answer sheet,

1- By signing these papers, I agree to not ——-—-- any of my company’s financial records to
anyone outside of my firm,
1) authorize 2) articulate 3) divulge 4) vichmize

2-  Without an antidote to treat the patient, the poisonous snakebite would prove —------- i
1} vulnerable 2) fatal 3) massive 4) extreme

3-  Stifling a yawn, Jackie covered her mouth as she listened to one of her mother’s ---——--
stories about her childhood.

1) interminable 2) credible 3) widespread 4) literal

4-  After learning the lawyer accepted a bribe, the committee decided to ~———-- him and
suspend his license.
1) encounter 2) retaliate 3) underestimate 4) rebuke

5-  The government will —---——- any property that has been purchased with money earned
through illegal means.
1) resist 2) seize 3) eliminate 4) avoid

6-  Now that I have got another offer of employment, which sounds as good as the earlier
oneg, | am in 8 ~——-—-- as to which one to choose.
1) necessity 2) comparison 3) postponement 4) dilemma

7-  Since there is a huge --—--- between the results of the first and second experiment, the
laboratory team will conduct a third test.
1) discrepancy 2) autonomy 3) randomness 4) opposition

8 To get a good grade on the research project, vou must —--—---—- your report with provable
facts.
1) inform 2) outline 3) substantiate 4) interfere

9-  We thought that the power cuts were temporary and would end bui we have now
realized that this is a -—----- — problem and will never end.
1) chaotic 2) perenmal 3) fragile 4) memorable

10- If a —---—- — answer can provide the information requested, there is no reason to bore a
person with a long response.
1) boundless 2) conceptual 3) concise 4) logical

Part B: Reading Comprehension

Directions: Read the following four passages and choose the best choice (1), (2), (3) or (4},
Then mark it on your answer sheet,

PASSAGFE 1:

Over the decades, tourism has experienced continued growth and deepening
diversification to become one of the fastest growing economic sectors in the world.
Modern tourism is closely linked to development and encompasses a growing number
of new destinations. These dynamics have turmned tourism into a key driver for socio-
CCONOMIC Progress.
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11-

12-

13-

14-

15-

Today, the business volume of tourism equals or even surpasses that of oil exports,
food products or automobiles. Tourism has become one of the major players in
international commerce, and represents at the same time one of the main income
sources for many developmng countries. This growth goes hand mm hand with an
increasing diversification and competition among destinations.

This global spread of tourism in industrialized and developed states has produced
economic and employment benefits in many related sectors—from construction to
agriculture or telecommunications.

The contribution of tourism to economic well-being depends on the quality and the
revenues of the tourism offer. The United Nations World Tourist Organization
(UNWTO) assists destinations in their sustanable positioning in ever more complex
national and international markets. As the UN agency dedicated to tourism, UNWTO
points out that particularly developing countries stand to benefit from sustainable
tourism and acts to help make this a reality.

What is the best title for the passage?

1) UNWTO Contribution to Tourism

2) Tourism in Developing Countries: Pros and Cons

3) Tourism: An Economic and Social Phenomenon

4) Emergence of Tourism-based Economies

The word "encompasses” in paragraph 1 is closest in meaning to ——-——— —_

1) leads to 2) incorporates 3) generates 4) stems from
The word "that" in paragraph 2 refers to -——-—-—
1) volume 2) business 3) munsm 4) export

It can be inferred from the passage that developing countries would benefit most from

tourism if they --——---- -—

1) decline to 1ignore the other economic sectors

2} increase their cooperation with UN-related agencies

3) take measures to make sure that their tounism industry has sustainable growth

4) recognize that competition among tourist destinations 1s getting tougher and tougher

There is sufficient information in the passage to answer which of the following questions?

1) What destination types appeal more to today's tourists?

2) Why 1s the growth of tourism of greater importance to developing countries than to
developed ones?

3) What are some of the policies to follow to ensure sustainability in the development
of tourism?

4) What are the vanables atfecting the contnibution of tourism to economic well-being
of the countries concerned?

PASSAGE 2:

Ecotourism is a form of tourism involving visiting fragile, pristine, and relatively
undisturbed natural areas, intended as a low-impact and often small scale alternative to
standard commercial (mass) tourism. It means responsible travel to natural arecas
conserving the environment and mproving the well being of the local people. Its
purpose may be to educate the traveler, to provide funds for ecological conservation,
to directly benefit the economic development and political empowerment of local
communities, or to foster respect for different cultures and for human rights. Since the
1980s, ecotourism has been considered a critical endeavor by environmentalists, so
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that future generations may experience destinations relatively untouched by human
intervention. Several university programs use this description as the working definition
of ecotourism.

Generally, ecotourism deals with interaction with biotic components of the natural
environments. Ecotourism focuses on socially responsible travel, personal growth, and
environmental sustainability. Ecotourism typically involves travel to destinations
where flora, fauna, and cultural heritage are the primary attractions. Ecotourism is
intended to offer tourists insight into the impact of human beings on the environment,
and to foster a greater appreciation of our natural habitats.

Responsible ecotourism programs include those that minimize the negative aspects
of conventional tourism on the environment and enhance the cultural integnity of local
people. Therefore, in addition to evaluating environmental and cultural factors, an
integral part of ecotourism is the promotion of recycling, energy efficiency, water
conservation, and creation of economic opportunities for local communities. For these
reasons, ecotourism often appeals to advocates of environmental and social
responsibility,

16- Which of the following best describes the organization of paragraph 17

1) A fact is stated and its merits and demernits are described.

2) A new trend is introduced and measures to maintain it are delineated.

3) A phenomenon 1s defined and then its related purposes are mentioned.

4) A new development is explained and then compared with another development,
17-  According to the passage, ecotourism is all of the following EXCEPT ———---—- ’

1) low-1mpact 2) small scale 3) biotic 4) responsible
18- Which of the following best describes environmentalists' attitude towards ecotourism?
1) Critical 2) Appreciative 3) Concerned 4) Neutral

19- Which of the following is mentioned in the passage about conventional tourism?
1) It began to lose its appeal in the 1980s.
2) It may leave a native impact on the environment.
3) It aims to make tourists environmentally mformed.
4) It helps to create jobs for local people in the destination areas.
20-  Which of the following is NOT included as a probable destination for an eco-tourist?
1) Where there 15 wildlife
2) Where local people live
3) Where exposure to plant life is possible
4) Where recycling is done to save energy resources

PASSAGE 3;

Cultural tourism has been defined as 'the movement of persons to cultural attractions
away from their normal place of residence, with the intention to gather new
mformation and experiences to satisfy their cultural needs'. These cultural needs can
include the solidification of one's own cultural identity., by observing the exotic
"other".

Cultural tourism has a long history, and with its roots in the Grand Tour is arguably
the original form of tourism. It 1s also one of the forms of tourism that most policy
makers seem to be betting on for the future. The World Tourism Organization, for
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example, asserted that cultural tourism accounted for 37% of global tourism, and
forecast that it would grow at a rate of 15% per vear. Such figures are often quoted in
stuches of the cultural tourism market, but are rarely backed up with empirical
research.

A recent study of the cultural consumption habits of Europeans (European
Commission 2002) indicated that people visited museums and galleries abroad almost
as frequently as they did at home. This underlines the growing importance of cultural
tourism as a source of cultural consumption. The generalization of cultural
consumption on holiday, however, points to one of the main problems of defining
cultural tourism. What is the difference between cultural visits on holiday (cultural
tourism) and cultural visits undertaken during leisure time at home? Much of the
research undertaken by the Association for Leisure and Tourism Education (ATLAS)
on the international cultural tourism market (Richards 1996; 2001) has in fact
underlined the high degree of continuity between consumption of culture at home and
on holiday.

21- The author mentions the World Tourism Organization in paragraph 2 in order to

1) emphasize the economic value of cultural tourism
2) trace cultural tourism to its historical origins
3) reinforce the definition made in paragraph |
4) support an earlier assertion
22- Which of the following best reveals the author's attitude towards the facts and figures
reported in paragraph 27
1) Dubious 2) Surprised 3) Amused 4) Complimentary
23- Which of the following is true about the study mentioned at the beginning of paragraph 37
1) It encouraged people to change their cultural habits,
2) It came up with a number of unexpected findings.
3) It was implemented by European Commussion.
4) It was carried out on European museum goers.
24- The question raised in paragraph 3 is one -——-—- -—
1) bothering ATLAS
2) concerning a problem related to defining cultural tourism
3) which was the focus of the study carmied out by ATLAS
4) challenging those in support of the divergence between consumption of culture at
home and on hohday
25- The word "underlined" in paragraph 3 is closest in meaning to -------————-- .
1) concealed 2) eliminated 3) highlighted 4) exaggerated

PASSAGE 4:

Spa tourism has for years represented the border area of medicine and tourism in spas
with the basic aim of prevention, rehabilitation and treatment with a professional and
controlled application of natural healing factors: climate, thermal mineral water,
peloid, sea water etc. However, changes and trends in the tourism market influenced
the spa tourism out of the traditional framework of healing tourism and prominent
hospitalized service philosophy and increasingly encompass preventive medicine
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26-

27-

28-

29-

30

forms or elements of wellness, which have even become the most important part of the
offer. A large number of spas reoriented from classic spa contents to tourist, recreation
and wellness contents.

Spas today are not just health resorts or rehabilitation centers. but modern health
tourism destinations wvisited also by healthy people with the motive of preventive
health care, those wanting to use the wellness services and those who want to relax,
detox, recreate, lose weight, stop smoking, engage in sports activities, enjoy
socializing, cultural environments and events, discover culinary specialties etc. For
spas to survive in a highly competitive and turbulent tourism market such a
reorientation was necessary.

Today's spa tourism has transformed the image of the original and classic
"thermalism™ with a wide range of different services; where water, due to its natural
relationship with the essence of the human being, remains one of the basic elements 1t
is used in different ways, with different objectives and with new technigues.

What is the author’s main purpose in the passage?

1) To define the concept of wellness

2) To introduce the most popular health tounst destinations

3) To argue that spa tourism is adjusting to the current trends

4) To explain why visitors prefer the traditional framework of spa tourism

The author mentions peloid in paragraph 1 as an example of a substance that --—-—----- i

1) has better therapeutic effects than seawater

2) 15 used n spas to treat visitors

3) reduces muscle pains

4) 15 found only 1in some spas

The passage states that spas today —---———-- %

1) attract increasing numbers of visitors from all over the world

2) may not be as useful for healthy people as they are for unhealthy ones

3) are believed to be the best way of losing weight

4) are visited by both healthy and unhealthy people

According to the passage, spa visitors may have all of the following intentions of visiting

spas EXCEPT —-—-—- —.

1) engaging in new types of leisure activities

2) taking pleasure in talking with others

3) ridding their body of harmful substances

4) experiencing different cuisines

Based on the information obtained from the passage, modern spa tourism ———- —.

1) downplays the importance of thermalism

2) differs from classic spa tourism in that its main aim 1is to cure visitors

3) places more emphasis on prevention than on cure

4) 1s favored mostly by those who are very well aware of the therapeutic use of hot-
water springs
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